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V" Flag question

Time left 0:12:55

In an automated filling
operation, an electronic scale
stops the manufacturing line
after four underweight
packages are detected.
Suppose that the probability
of an underweight package is
0.001 and each fill is
iIndependent. What is the
probability that 8 fills are done
before the first underweight
package is detected?

® 09.93n04
@ D.8.95*10°°
W C.00]

@ d.9.32%10°°
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V" Flag question

Time left 0:14:26

In an automated filling
operation, an electronic scale
stops the manufacturing line
after five underweight
packages are detected.
Suppose that the probability
of an underweight package is
0.01 and each fill is
independent. What is the
standard deviation of the
number of fills before the line
IS stopped?

® dN888
@ D.222

@ €. 39600

O d. 49500
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ot yet answere

Time left 0:16:35

Marked out of 1.00

\~ Flag question

In an automated filling
operation, an electronic scale
stops the manufacturing line
after five underweight
packages are detectea.
Suppose that the probability
of an underweight package is
0.01 and each fill is
iIndependent. What is the
mean number of fills before
the line is stopped?

Answer:

Next page



	166340287_517768136271565_2235715018209384530_n
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	166716725_303818791154644_8193394190259185723_n
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	181028909_741051586571396_3152577723278373486_n
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